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PART - I

MATHEMATICS
1. If a, b, c are in Arithmetic Progression and one

root of the equation ax2 + bx + c = 0 is 2, then
other root is:

(a) 4
3

(b) 4
3



(c) 4
5

 (d) 2
5



2. If 12cosKcossin 266  , then k is equal
to:

(a) 2tan
2
1 2 (b) 2tan

4
1 2

(c) 2cot4 2 (d) 2tan
4
3 2

3. If y is a function of x given by ax + y = ax + ay,
where 'a' is a real constant (a > 1) then domain
of y(x) is:
(a) ) ,0(  (b) )0 ,(

(c) )  ,1(  (d) 1)  ,(–

4. If  (K2 + K – 2)x2 + (K + 2) x < 1 for all Rx ,
then K belongs to:

(a) (–2, 1) (b) 







5
2  ,2

(c) 





 1  ,

5
2

(d) None of these

5. If x is an integer satisfying 05x6x2   and

0x2x2   then number of possible values of x is:
(a) 3 (b) 4
(c) 2 (d) infinite

6. If Tn denotes the nth term of the series
2 + 3 + 6 + 11 + 18 + ...... then T50 is:
(a) 492 – 1 (b) 492 + 2
(c) 502 + 1 (d) 492

7. The equation |z + i| – |z – i| = k represents a
hyperbola if:
(a) –2 < k < 2 (b) k > 2
(c) 0 < k < 2 (d) None of these

1. ;fn a, b, c lekUrj Js.kh esa gSa rFkk lehdj.k
ax2 + bx + c = 0 dk ,d ewy 2 gS] rks nwljk ewy gksxk%

(a) 4
3

(b) 4
3



(c) 4
5

 (d) 2
5



2. ;fn 12cosKcossin 266   rks k cjkcj gS%

(a) 2tan
2
1 2 (b) 2tan

4
1 2

(c) 2cot4 2 (d) 2tan
4
3 2

3. ;fn y,  x dk Qyu gS] ftls yxyx aaa   ls
O;Dr fd;k tkrk gS] tgk¡ 'a' ,d okLrfod vpj
(a > 1) gS rc y(x) dk çkUr gksxk%
(a) ) ,0(  (b) )0 ,(
(c) )  ,1(  (d) 1)  ,(–

4. ;fn (K2 + K – 2)x2 + (K + 2) x < 1 lHkh Rx ,
rks K fdlls lEc) gksxk%

(a) (–2, 1) (b) 







5
2  ,2

(c) 





 1  ,

5
2

(d) buesa ls dksbZ ugha

5. ;fn x ,d iw.kkZad la[;k gS] tks 05x6x2 
,oa 0x2x2   dks larq"V djrk gS] rc x ds lHkh
laHkkfor ekuksa dh la[;k gksxh%
(a) 3 (b) 4
(c) 2 (d) vuUr

6. ;fn Tn  Js.kh 2 + 3 + 6 + 11 + 18 + ...... ds nosa
in dks çnf'kZr djrk gS rks T50 dk eku gksxk\
(a) 492 – 1 (b) 492 + 2
(c) 502 + 1 (d) 492

7. lehdj.k |z + i| – |z – i| = k ,d vfrijoy; dks
çnf'kZr djrk gS] ;fn%
(a) –2 < k < 2 (b) k > 2
(c) 0 < k < 2 (d) buesa ls dksbZ ugha
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8. 20 teachers of MKC either teach Mathematics or

Statistics. 12 of them teach Mathematics while 4
teach both subjects. Then the number of teachers
teaching only statistics is:
(a) 12 (b) 8
(c) 16 (d) 2

9. If the line y 1 m(x 1)    cuts the circle
x2 + y2 = 4 at two real points then the number of
possible values of 'm' is:
(a) 1 (b) 2
(c) Infinite (d) None of these

10. 5 
1 1 1log .... to n terms)
4 8 16

n
Lim  (0.2) 

  


 is equal to:

(a) 2 (b) 4
(c) 8 (d) 0

11.
x

x 0

3 –1Lim 
x 1–1 

 is equal to:

(a) elog 9 (b) elog 3

(c) 0 (d) 1

12. The number of ways in which a couple can sit
around a table with 6 guests if the couple take
consecutive seats is:
(a) 1440 (b) 720
(c) 5040 (d) none of these

13. The foci of the ellipse
12x2 + 4y2 + 24 x – 16y + 25 = 0 is:

(a) (1, 2) (b) 





 

2
12  ,1

(c) 





 

3
12  ,1 (d) None of these

14. Range of the expression 4 + 3x – x2 is:

(a) 




 

4
25  , (b) 




 

4
3  ,

(c) 




  ,

4
25

(d) None of these

8. MKC ds 20 f'k{kd xf.kr vFkok lkaf[;dh i<+krs
gSA buesa ls 12 xf.kr tcfd 4 nksuksa fo"k; i<+krs
gSa rks dsoy lkaf[;dh i<+kus okys f'k{kdksa dh
la[;k gS%
(a) 12 (b) 8
(c) 16 (d) 2

9. ;fn js[kk y 1 m(x 1)   , o`Rr x2 + y2 = 4 dks nks
okLrfod fcUnqvksa ij dkVrh gS] rc m ds lHkh
laHkkfor ekuksa dh la[;k gksxh%
(a) 1 (b) 2
(c) vuUr (d) buesa ls dksbZ ugha

10. 5  
1 1 1log .... to n terms)
4 8 16

n
Lim  (0.2) 

  


 cjkcj gS%

(a) 2 (b) 4
(c) 8 (d) 0

11.
x

x 0

3 –1Lim 
x 1–1 

 cjkcj gS%

(a) elog 9 (b) elog 3

(c) 0 (d) 1

12. ,d est ds pkjksa vksj fdlh nEifŸk ds 6 esgekuksa ds
lkFk cSBus ds dqy fdrus rjhds gSa] ;fn nEifŸk
Øekxr :i ls cSBrs gSa\
(a) 1440 (b) 720
(c) 5040 (d) buesa ls dksbZ ugha

13. nh?kZo`Rr 12x2 + 4y2 + 24 x – 16y + 25 = 0 dh
ukfHk gS%

(a) (1, 2) (b) 





 

2
12  ,1

(c) 





 

3
12  ,1 (d) buesa ls dksbZ ugha

14. O;atd 4 + 3x – x2  dk ijkl gS%

(a) 




 

4
25  , (b) 




 

4
3  ,

(c) 




  ,

4
25

(d) buesa ls dksbZ ugha
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15. The term independent of x in the expansion of
10

2

x
1x)x1( 





   is:

(a) 11C5 (b) 10C5

(c) 11C4 (d) none of these

16. In an examination of 9 papers a candidate has to
pass in more papers than the number of papers in
which he fails in order to be successful. The
number of ways in which he can be unsuccessful
is:
(a) 255 (b) 256
(c) 193 (d) 319

17. In a club election the number of contestants is
one more than the number of maximum candidates
for which a voter can vote. If the total number of
ways in which a voter can vote be 62, then the
number of candidates is:
(a) 7 (b) 5
(c) 6 (d) 9

18. The value of

11
9Cos

11
7Cos

11
5Cos

11
3Cos

11
Cos 













 is:

(a) 0 (b) 1

(c) 2
1

(d) 4
1

19. Equation of the circle which passes through the
origin has its centre on the line x + y = 4 and cuts
the circle x2 + y2 – 4x + 2y + 4 = 0 orthogonally
is:
(a) x2 + y2 – 4x – 4y = 0
(b) x2 + y2 – 2x – 6y = 0
(c) x2 + y2 – 6x – 3y = 0
(d) None of these

20. In the centre of the triangle with vertices
A(–36, 7), B(20, 7) and C(0, –8) is:
(a) (1, 2) (b) (–1, 0)
(c) (1, 0) (d) (1, 1)

15.
10

2

x
1x)x1( 





   ds çlkj esa x ls Lora= in gS%

(a) 11C5 (b) 10C5

(c) 11C4 (d) buesa ls dksbZ ugha

16. ,d ijh{kk esa dqy 9 ç'u i= gSA ,d vH;FkhZ dks
lQy gksus ds fy;s mlds }kjk vlQy gq, ç'u
i=ksa dh vis{kk ikl gq, ç'u i=ksa dh la[;k T;knk
gksuh pkfg;sA vlQy gksus dh dqy rjhdksa dh la[;k
gksxh%
(a) 255 (b) 256
(c) 193 (d) 319

17. ,d Dyc ds pquko esa dqy çfrHkkfx;ksa dh la[;k
fdlh ernkrk }kjk pqus tkus okys mEehnokjksa dh
vf/kdre la[;k ls 1 T;knk gSA ;fn ernkrk }kjk
vyx&vyx çdkj ls er nsus dh dqy la[;k 62 gS]
rks mEehnokjksa dh dqy la[;k gksxh%
(a) 7 (b) 5
(c) 6 (d) 9

18.
11
9Cos

11
7Cos

11
5Cos

11
3Cos

11
Cos 













dk eku gS%

(a) 0 (b) 1

(c) 2
1

(d) 4
1

19. ml òRr dk lehdj.k Kkr djsa tks ewy fcUnq ls
gksdj xqtjrk gS rFkk mldk dsUnz js[kk x + y = 4 ij
fLFkr gS rFkk oR̀r x2 + y2 – 4x + 2y + 4 = 0 dks
yEcdks.kr% dkVrk gS%
(a) x2 + y2 – 4x – 4y = 0
(b) x2 + y2 – 2x – 6y = 0
(c) x2 + y2 – 6x – 3y = 0
(d) buesa ls dksbZ ugha

20. ml f=Hkqt dk vUr% dsUnz D;k gS] ftlds 'kh"kZ
A(–36, 7), B(20, 7) vkSj C(0, –8) gS%
(a) (1, 2) (b) (–1, 0)
(c) (1, 0) (d) (1, 1)
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21. In a class 100 students there are 70 boys whose

average marks in a subject are 75. If the average
marks of the complete class is 72, then the
average marks of the girls is:
(a) 73 (b) 68
(c) 65 (d) 74

22. Cos 170o .Cos150o. Cos130o. Cos110o is equal
to:

(a) 16
1

(b) 16
3

(c) 16
5

(d) 16
7

23. If a vertex of triangle is (1, 1) and the mid point
of two sides of a triangle through this vertex are
(–1, 2) and (3, 2), then the centroid of the triangle
is:

(a) 







3
7  ,

3
1

(b) 







3
7  ,1

(c) 







3
7  ,

3
1

(d) 







3
7  ,1

24. If the line x – 1 = 0 is the directrix of parabola
y2 – kx + 8 = 0, then one of the value of k is:

(a) 4 (b) 8
1

(c) 8 (d) 4
1

25. If 
5

sini
5

cos1z 



  then the value of

sin(arg(z)) is?

(a) 
4

5210 (b) 
4

15 

(c) 
4

15 
(d) None of these

21. ,d d{kk esa 100 Nk= gS ftlesa 70 yM+ds gSa ftuds
,d fo"k; esa vkSlr vad 75 gSaA ;fn laiw.kZ d{kk ds
vkSlr vad 72 gksa rc yM+fd;ksa ds vkSlr vad gSa%
(a) 73 (b) 68
(c) 65 (d) 74

22. Cos 170o .Cos150o. Cos130o. Cos110o dk eku
cjkcj gS%

(a) 16
1

(b) 16
3

(c) 16
5

(d) 16
7

23. ;fn fdlh f=Hkqt dk ,d 'kh"kZ (1, 1) gS rFkk bl
'kh"kZ ls xqtjus okyh f=Hkqt dh nksuksa Hkqtkvksa ds
e/; fcUnq (–1, 2) rFkk (3, 2) gS] rc f=Hkqt dk
dsUnzd gS%

(a) 







3
7  ,

3
1

(b) 







3
7  ,1

(c) 







3
7  ,

3
1

(d) 







3
7  ,1

24. ;fn js[kk x – 1 = 0] ijoy; y2 – kx + 8 = 0 dh
fu;rk gS rks k dk ,d eku gS%

(a) 4 (b) 8
1

(c) 8 (d) 4
1

25.  ;fn 
5

sini
5

cos1z 



 , rks sin(arg(z)) dk

eku D;k gS\

(a) 
4

5210  (b) 
4

15 

(c) 
4

15 
(d) buesa ls dksbZ ugha
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SCIENCE

26. Displacement of an oscillating particle is given
by )DCtBxsin(Ay  . The dimensional
formula of  [A B C D] will be:
(a) [M0L–1T0] (b) [M0L0T–1]
(c) [M0L–1T–1] (d) [M0L0T0]

27. The displacement-time graph of a moving object
is shown in the figure I. Which of the velocity-
time graphs shown in the answer figure could
represent the motion of the same body?

z

(a) (b) 

(c) (d) 

28. A horizontal force of 10 N is necessary to just
hold a block stationary against a wall. The
coefficient of friction between the block and the
wall is 0.2. The weight of the block is:

             

(a) 100 N (b) 2 N
(c) 20 N (d) 50 N

26. dEiu dju s oky s ,d d.k dk foLFkkiu
)DCtBxsin(Ay  ls çnf'kZr fd;k tkrk gS]

rks [A B C D] dk foeh; lw= gksxk%
(a) [M0L–1T0] (b) [M0L0T–1]
(c) [M0L–1T–1] (d) [M0L0T0]

27. ,d xfreku oLrq dk foLFkkiu&le; xzkQ fp= esa
çnf'kZr gSA blh fi.M dk dkSu lk osx&le; xzkQ
bldh xfr dks O;Dr djrk gS\

(a) (b) 

(c) (d) 

28. ,d nhokj ds fo#) fdlh Cykd dks fLFkj j[kus
gsrq 10 N ds {kSfrt cy dh vko';drk gksrh gSA
Cykd rFkk nhokj ds e/; ?k"kZ.k xq.kkad 0.2 gSA
Cykd ¼xqVds½ dk Hkkj gS%

                     

(a) 100 N (b) 2 N
(c) 20 N (d) 50 N
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29. Six vectors, a through f


, have the magnitudes

and directions indicated in the figure. Which of
the following statements is true?

                 

(a) b c f 
r r r

(b) fcd



(c) fed


 (d) feb




30. Given below is a graph between a variable force
(F) (along y-axis) and the displacement (X) (along
x-axis) of a particle in one dimension. The work
done by the force in the displacement interval
between 0 m and 30 m is:

                 

(a) 275 J (b) 375 J
(c) 400 J (d) 300 J

31. Two bodies have their moments of inertia I and
2I respectively about their axis of rotation. If their
kinetic energies of rotation are equal, their
angular momenta will be in the ratio:
(a) 2 : 1 (b) 1 : 2

(c) 1:2 (d) 2:1

32. The apparent frequency of a note is 200 Hz, when
a listener is moving with a velocity of 40 ms–1

towards a stationary source. When he moves
away from the same source with the same speed,
the apparent frequency of the same note is 160
Hz. The velocity (in ms–1) of sound in air is:
(a) 340 (b) 330
(c) 360 (d) 320

29. N% lfn'kksa ds a ls f


 rd] ifjek.k rFkk fn'kk,¡]
fp=kuqlkj bafxr gSA fuEufyf[kr esa ls dkSu lk
dFku lR; gS\

             

(a) fcb


 (b) fcd



(c) fed


 (d) feb




30. uhps ,d ifjorhZ cy (F) (Y-v{k ds vuqfn'k) rFkk
d.k esa mRiUu foLFkkiu  (X)  (x-v{k ds vuqfn'k)
xzkQ çnf'kZr fd;k x;k gSA foLFkkiu vUrjky 0 m
rFkk 30 m ds e/; vkjksfir cy }kjk fd;k x;k
dk;Z gS%

               

(a) 275 J (b) 375 J
(c) 400 J (d) 300 J

31. nks fi.Mksa dk tM+Ro vk?kw.kZ muds v{kksa ds ifjr%
Øe'k% I rFkk 2I gSA ;fn mudh ?kw.kZu xfrt ÅtkZ,¡
leku gksa rks muds dks.kh; laosxksa dk vuqikr gksxk%

(a) 2 : 1 (b) 1 : 2

(c) 1:2 (d) 2:1

32. ,d /ofu dh vkHkklh vkof̀Ÿk 200 gVZ~t gS] tcfd
,d Jksrk fLFkj lzksr dh vksj 40 eh-@ls- dh pky
ls tk jgk gSA tc og mlh pky ls lzksr ls nwj
tkrk gS rks mlh /ofu dh vkHkklh vkof̀Rr 160 Hz
izrhr gksrh gSA /ofu dk ok;q esa osx ¼eh@ls-½ D;k
gS\
(a) 340 (b) 330
(c) 360 (d) 320
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33. A ball is made of a material of density   where

wateroil   with oil  and water
representing the densities of oil and water,
respectively. The oil and water are immiscible.
If the above ball is in equilibrium in a mixture of
this oil and water, which of the following pictures
represents its equilibrium position?

(a) (b) 

(c)  (d)  

34. Pressure (P) – Volume (V) plots for two gases
during adiabatic process are shown. Plots 1 and
2 correspond to gases:

(a) He and O2 (b) O2 and He
(c) He and Ar (d) O2 and N2

35. If ks and kp respectively are effective spring
constants in series and parallel combination of

springs as shown in figure, find 
p

s

k
k

:

(a) 9/2 (b) 3/7
(c) 2/9 (d) 7/3

33. ,d xsan   ?kuRo okys ,d inkFkZ ls fufeZr gS tgk¡
wateroil  tgk¡ oil  rFkk water  Øe'k% rsy

,oa ikuh ds ?kuRo dks çnf'kZr djrs gSaA rsy rFkk
ty ijLij v?kqyu'khy gSA ;fn ,d xsan rsy ,ao
ty ds feJ.k esa lUrqfyr voLFkk esa gks rks uhps fn;s
x;s fp= esa ls dkSu lk fp= xsan dh lUrqfyr
voLFkk dks çnf'kZr djrk gS\

(a) (b) 

(c)  (d)  

34. #)ks"e çfØ;k ds nkSjku nks xSlksa ds nkc (P) rFkk
vk;ru (V) dks xzkQ esa n'kkZ;k x;k gSA mijksDr
xzkQ esa js[kk,¡ 1 rFkk 2 fdl xSl dks bafxr djrh gSa\

(a) He rFkk O2 (b) O2 rFkk He
(c) He rFkk Ar (d) O2 rFkk N2

35. fp= esa ks ,oa kp, Js.kh ,oa lekUrj Øe esa tqM+s

fLizxksa ds izHkkoh fLizax fu;rkad gSa rks 
p

s

k
k

 Kkr djsa%

 

(a) 9/2 (b) 3/7
(c) 2/9 (d) 7/3
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36. Consider the following molecules (i) PCl5, (ii)

BF3, (iii) XeF2 and (iv) H2O and the related
statements :
1.   The molecules not obeying the octet rule are

(i), (ii) and (iii).
2.   The electron deficient molecules are (i) and

(ii).
3.   The molecules possessing non-bonding pairs

of electrons on central atoms are (iii) and
(iv).

Which of the above statements are correct?
(a) 1 and 2 (b) 1 and 3
(c) 2 and 3 (d) 1, 2 and 3

37. The correct order indicating a decrease in the
first ionisation energy in respect of the elements
Li, Be, B and C will be :
(a) C > B > Be > Li (b) C > Be > B > Li
(c) Li > Be > B > C (d) Li > B > Be > C

38. Match List-I with List-II and select the correct
answer using the codes given below the Lists:

List-I   List-II
A. Bronsted Acid 1. 3HCO

B. Bronsted Base 2. OH–

C. Lewis Acid 3. Al3+

D. Lewis Base 4. CN–

Codes:
A B C D  A B C D

(a) 1 2 3 4 (b)  3 4 1 2
(c) 3 2 1 4 (d)  1 4 3 2

39. In a polyelectronic atom, the energies of a set of
atomic orbitals designated as 3p, 3d, 4s and 4p
will appear in the order of :
(a) 3p > 4s > 3d > 4p (b) 3p > 3d > 4s > 4p
(c) 4p > 3p > 4s > 3d (d) 4p > 3d > 4s > 3p

40. Rutherford’s model of atom is considered
untenable because :
(a) a positively charged nucleus cannot remain

separated from negatively charged electrons.
(b) an accelerated electron would continuously

lose energy in the form of radiation.
(c) nuclear mass is not sufficiently heavy to keep

the light electron in its orbit.
(d) the centre of gravity of the system would be

within the volume of the nucleus.

36. fuEufyf[kr v.kqvksa (i) PCl5, (ii) BF3, (iii) XeF2

rFkk (iv) H2O rFkk muls lEc) dFkuksa ij fopkj
djsa%
1.  v’Vd fu;e dk ikyu u djus okys v.kq gSa&(i),

(ii) rFkk (iii)
2. de bysDVªku okys v.kq gSa &(i) rFkk (ii) gSA
3. dsUnzh; ijek.kqvksa ij fucZfU/kr bysDVªku ;qXeksa

okys v.kq gSa& (iii) rFkk (iv)
mijksDr dFkuksa esa ls dkSu lk dFku lR; gS\
(a) 1 rFkk 2 (b) 1 rFkk 3
(c) 2 rFkk 3 (d) 1, 2 rFkk 3

37. Li, Be, B rFkk C rRoksa dh izFke vk;uhdj.k ÅtkZ
ds ?kVrs Øe dk lgh mRrj gS%
(a) C > B > Be > Li (b) C > Be > B > Li
(c) Li > Be > B > C (d) Li > B > Be > C

38. lwph-I rFkk lwph-II dks lqesfyr djsa rFkk uhps fn,
x, dwVksa dk iz;ksx dj lgh mRrj dks p;fur djsaA

  lwph-I lwph-II
A. czkUlVsM vEy 1. 3HCO

B. czkUlVsM {kkj 2. OH

C. yqbZl vEy 3. 3Al 

D. yqbl {kkj 4. CN

dwV%
A B C D  A B C D

(a) 1 2 3 4 (b)  3 4 1 2
(c) 3 2 1 4 (d)  1 4 3 2

39. ,d cgqbysDVªkfud ijek.kq esa] 3p, 3d, 4s rFkk 4p
okys ijek.kq d{kdksa ds leqPp; dh ÅtkZ dk lgh
c<+rk Øe gS%
(a) 3p > 4s > 3d > 4p (b) 3p > 3d > 4s > 4p
(c) 4p > 3p > 4s > 3d (d) 4p > 3d > 4s > 3p

40. jnjQksMZ ds ijek.kq ekWMy dks vO;ogkfjd ekuk
tkrk gS D;ksafd&
(a) ,d /ku vkosf'kr ukfHkd _.k vkosf'kr bysDVªku

ls iF̀kd ugha jg ldrsA
(b) ,d Rofjr bysDVªku fofdj.k ds :i esa yxkrkj

ÅtkZ dk {k; djsxk
(c) ukfHkdh nzO;eku i;kZIr :i ls Hkkjh ugha gksrs

rkfd os gYds bysDVªku dks mudh d{kk esa fLFkj
j[k ldsA

(d) iz.kkyh dk xq#Ro dsUnz ukfHkd ds vk;ru ds
vUnj fufgr gksxkA
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41. Match List-I with List-II and select the correct

answer using the codes given below the Lists :
          List-I List-II

 (Process) (Use)
A. Cyanide Process 1. Ultra pure Ge
B. Flotation process 2. Pine oil
C. Electrolytic reduction 3. Extraction of Al
D. Zone refining 4. Extraction of Au

Codes:
 A B C D

(a) 2 4 1 3
(b) 4 2 3 1
(c) 4 2 1 3
(d) 2 4 3 1

42. Match List-I with List-II and select the correct
answer using the codes given below the Lists:

   List-I       List-II
(Type of Water) (Composition)

A. Heavy water 1. Bicarbonates of
Mg and Ca in water

B. Temporary hard water 2. No foreign ions in
water

C. Soft water 3. D2O
D. Permanent hard water 4. Sulphates and

chlorides of Mg
and Ca in water

Codes :
A    B     C    D A    B     C    D

(a) 4 3 1 2 (b) 2 1 3 4
(c) 4 1 3 2 (d) 3 1 2 4

43. Match List-I with List-II  and select the correct
answer using the codes given below the Lists:

  List-I     List-II
 (Compound)     (Use)

A. Acetylsalicylic Acid 1. Insecticide
B. DDT 2. Drug
C. Naphthalene 3. Moth repellant
D. Carbon tetrachloride 4. Fire extinguisher

Codes:
A B C D

(a) 2 1 3 4
(b) 4 1 2 3
(c) 4 1 3 2
(d) 2 1 4 3

41. lwph-I rFkk lwph-II dks lqesfyr djsa rFkk uhps fn,
x, dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA

   lwph-I    lwph-II
    ¼çfØ;k½    ¼mi;ksx½

A. lk;ukbM izfØ;k 1. vfr”kq) tesZfu;e
B. mRIykou izfØ;k 2. phM+ dk rsy
C. fo|qr vi?kVu 3. ,Y;wfefu;e dk fu’d’kZ.k
D. tksu fjQkbfuax 4. lksus dk fu"d’kZ.k

dwV%
 A B C D

(a) 2 4 1 3
(b) 4 2 3 1
(c) 4 2 1 3
(d) 2 4 3 1

42. lwph-I dks lwph-II ls lqesfyr djsa rFkk uhps fn,
x, dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA

 lwph-I lwph-II
   ¼ty ds çdkj½ ¼lajpuk½
A. Hkkjh ty 1. ty esa Mg rFkk Ca

ds ckbdkcksZusV
B. vLFkk;h dBksj ty 2. ty esa dksbZ ckg~;

vk;u ugha
C. ènq ty 3. D2O
D. LFkk;h dBksj ty 4. Mg rFkk Ca ds ty

esa lYQsV ,oa DyksjkbM
dwV%

 A    B     C    D  A     B      C    D
(a) 4 3 1 2 (b) 2 1 3 4
(c) 4 1 3 2 (d) 3 1 2 4

43. lwph-I dks lwph-II  ds lkFk lqesfyr djsa rFkk uhps
fn, x, dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA

 lwph-I     lwph-II
¼;kSfxd½        ¼iz;ksx½

A. ,lhVkby lSfylkbfyd  1. dhVuk'kd
vEy

B. DDT   2. vkS"kf/k
C. uSiFkfyu   3. dhV ¼ekWFk½ fod"kZd
D. dkcZu VsVªkDyksjkbM   4. vfXu 'ked ;U=

dwV%
A B C D

(a) 2 1 3 4
(b) 4 1 2 3
(c) 4 1 3 2
(d) 2 1 4 3
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44. Match List-I with List-II and select the correct

answer using the codes given below the Lists:
List-I List-II

(Type of glass) (Main constituents)
A. Pyrex 1. Red lead + K2CO3

B. Flint 2. Sodium Aluminium Borosilicate
C. Soft 3. Limestone + Na2CO3

D. Jena 4. Barium and Zinc Borosilicates
Codes:

A B C D
(a) 2 3 4 1
(b) 2 1 3 4
(c) 4 2 1 3
(d) 3 1 2 4

45. Match List-I with List-II and select the correct
answer using the codes given below the Lists :

List-I List-II
(Halogens) (Uses)

A. Fluorine  1. Its compound is used in
photography

B. Chlorine 2. It is used as an antiseptic
C. Bromine 3. It is used in the  production of

pesticides
D. Iodine 4. Its compounds are used in

refrigeration
Codes:

A B C D
(a) 4 3 1 2
(b) 3 4 2 1
(c) 3 2 1 4
(d) 2 1 3 4

46. The part labelled as 'X' in the diagram is:

                 

(a) Larynx (b) Trachea
(c) Bronchiole (d) Bronchus

44. lwph-I dks lwph-II ls lqesfyr djsa rFkk uhps fn,
x, dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA

lwph-I lwph-II
¼'kh'ks dh fdLes½    ¼eq[; la?kVd½
A. ikbjsDl 1. yky ysM ¼flUnwj½ + K2CO3
B. f¶y.V 2. lksfM;e ,Y;wfefu;e cksjks

flfydsV
C. ènq 3. pwuk iRFkj + Na2CO3
D. tsuk 4. csfj;e rFkk ftad cksjks flfydsV

dwV%
A B C D

(a) 2 3 4 1
(b) 2 1 3 4
(c) 4 2 1 3
(d) 3 1 2 4

45. lwph-I dks lwph-II ds lkFk lqesfyr djsa rFkk uhps
fn, x, dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA

lwph-I lwph-II
¼gSykstu½ ¼iz;k sx½

A. ¶yksjhu 1. blds ;kSfxd QksVksxzkQh esa iz;ksx
fd, tkrs gSaA

B. Dyksjhu 2. ;g ,d ,UVhlsfIVd dh rjg iz;ksx
fd;k tkrk gSA

C. czksehu 3. bls dhVuk'kdksa ds mRiknu esa
bLrseky fd;k tkrk gSA

D. vk;ksMhu 4. muds ;kSfxdksa dks jsÝhtjs'ku esa
iz;ksx fd;k tkrk gSA

dwV%
A    B     C   D

(a) 4 3 1 2
(b) 3 4 2 1
(c) 3 2 1 4
(d) 2 1 3 4

46. çnf'kZr fp= esa 'X' fdl vax dks fpfUgr djrk gS%

                    

(a) daBuyh (b) 'okl uyh
(c) 'olfudk (d) 'oluh
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47.  Genetic engineering is possible only due to the
role of certain specific enzymes that cut DNA at
particular points of the sequence. These enzymes
are called:
(a) Nucleases
(b)  Restriction enzymes
(c) DNA Polymerases
(d)  Nitrogenases

48. Which one of the following organisms has the
prokaryotic type of cell structure?
(a) Mosquito
(b) Drosophila
(c) Blue-green alga
(d) Mustard Plant

49. Doctors use electrocardiogram (ECG):
(a) to estimate the volume of blood pumped by

the heart per minute.
(b) to detect changes in the electical impulses in

the heart during its contraction and
relaxation.

(c) to determine the changes in the sound pattern
during opening and closure of valves.

(d) to compare the sound waves resulting from
vibration produced by cardiac muscles
during pumping of heart.

50. In an accident, a person's brain was injured due
to which he could not regulate body temperature,
hunger and water balance. Which one among the
following parts of his brain was affected?
(a) Cerebellum
(b) Medulla oblongata
(c) Hypothalamus
(d) Corpus callosum

47. vkuqoaf'kd vfHk;kaf=dh dsoy mu fof'k"V fd.odksa
dh Hkwfedk ds dkj.k lEHko gqvk gS tks Mh-,u-,- dks
vuqØe ds fo'ks"k fcUnqvksa ij dkVrk gSA ;g fd.od
dgykrs gSa%
(a) U;wfDy,lst
(b) ckf/kr fd.od
(c) Mh-,u-,- ikyhejst
(d) ukbVªksthlst

48. buesa ls dkSu ls thoksa esa çkDdsfUnzd çdkj dh
dksf'kdk lajpuk ikbZ tkrh gS\

(a) ePNj

(b) MªkslksfQyk

(c) uhys&gjs 'kSoky

(d) ljlksa dk ikS/kk

49. MkWDVj bySDVªksdkfMZ;ksxzke dk iz;ksx djrs gSa%

(a) ân; }kjk çfr feuV dh nj ls iEi fd;s x;s
jDr ds vk;ru dk vkdyu djus gsrqA

(b) ân; esa fldqM+u rFkk QSyko ds nkSjku mRiUu
fo|qr vkosxksa esa gksus okys cnyko dh igpku
djus gsrqA

(c) okYoksa ds [kqyus rFkk can gksus ds le; mRiUu
/ofu iSVuZ esa gksus okys ifjorZu dk irk yxkukA

(d) ân; }kjk jDr lapj.k fd;s tkus ds nkSjku
ân; is'kh }kjk mRiUu dEiuksa ds dkj.k gksus
okyh /ofu rjaxksa dh rqyuk djukA

50. ,d nq?kZVuk esa ,d O;fDr dk efLr"d {kfrxzLr gks
x;k] ftlds dkj.ko'k og vius 'kjhj ds rkieku]
Hkw[k rFkk ty ds larqyu dks fu;ksftr djus esa
vleFkZ gSA blds efLr"d dk dkSu lk Hkkx çHkkfor
gqvk\
(a) vuqefLr"d
(b) esM~;qyk vkCykaxkVk
(c) gkbiksFkSysel
(d) dkiZl dSyksle
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PART - II
GENERAL  AWARENESS

51. Who is called as the ‘Second Ashoka’?
(a) Harshavardhana (b) Akbar
(c) Kanishka (d) Samudra Gupta

52. Who was the founder of Nalanda University?
(a) Kumar Gupta-I (b) Skanda Gupta
(c) Samundra Gupta (d) Chandra Gupta-I

53. The correct chronological sequence of the arrival
of European Nations for trade through sea route
to India is:
(a) Dutch, English, French, Portuguese
(b) Portuguese, Dutch, English, French
(c) English, French, Portuguese, Dutch
(d) French, Portuguese, Dutch, English

54. Which two countries were involved in 'Seven
Years War'?
(a) Turkey and Austria
(b) England and France
(c) Palestine and Israel
(d) Germany and Russia

55. Consider the following organisations:
1. ASEAN 2. NAM
3. G-20 4. SAARC
5. BRICS 6. NATO
Which of the above group India is not related
with?
(a) 2 and 3 (b) 3 and 5
(c) 1 and 6 (d) 4 and 6

56. Consider the following statements about the
National Anthem “Jann Gann Mann”.
1. It was first sung on 27th December, 1911 at the

Calcutta Session of the Indian National
Congress.

2. It was adopted by the Constituent Assembly
on 24th January, 1950.

3.  Playing time of the full version of the National
Anthem is approximately 54 seconds.

Which of the statements given above is/are
correct?
(a) Only 1 (b) 1 and 2
(c) 2 and 3 (d) 1, 2 and 3

51. ^f}rh; v'kksd* fdls dgk tkrk gS\
(a) g"kZo/kZu (b) vdcj
(c) dfu"d (d) leqnzxqIr

52. ukyUnk fo'ofo|ky; ds laLFkkid dkSu Fks\
(a) dqekjxqIr&I (b) LdUnxqIr
(c) leqnzxqIr (d) pUnzxqIr&I

53. Hkkjr es ;wjksih; ns'kksa ds leqnz ds jkLrs ls O;kikj gsrq
vkxeu dk lgh dkykuqØe gS%
(a) Mp] v¡xzst] Ýkalhlh] iqrZxkyh
(b) iqrZxkyh] Mp] v¡xst] Ýkalhlh
(c) v¡xzst] Ýkalhlh] iqrZxkyh] Mp
(d) Ýkalhlh] iqrZxkyh] Mp] v¡xzst

54. ^lIro"khZ; ;q)* esa dkSu ls nks ns'k 'kkfey Fks\

(a) VdhZ vkSj vkfLVª;k

(b) baXyS.M vkSj Ýkal

(c) fQfyLrhu vkSj btjkby

(d) teZuh vkSj :l

55. fuEufyf[kr laxBuksa ij fopkj djsa%
1. vkfl;ku 2. ,u-,-,e-
3. th-20 4. lkdZ
5. fczDl 6. ukVks
buesa ls fdu lewg ds lkFk Hkkjr lEc) ugha gS\
(a) 2 vkSj 3 (b)  3 vkSj 5
(c) 1 vkSj 6 (d) 4 vkSj 6

56. jk"Vªh; xku ^tu xu eu* ds lEcU/k esa fuEufyf[kr
dFkuksa ij fopkj djsa%
1. bls loZçFke Hkkjrh; jk"Vªh; dkaxzsl ds dydRrk

vf/kos'ku esa 27 fnlEcj] 1911 dks xk;k x;kA
2. bls 24 tuojh] 1950 esa lafo/kku lHkk }kjk

viuk;k x;kA
3. jk"Vªh; xku ds lEiw.kZ laLdj.k dks ctkus dk

le; 54 lsd.M gSA
fn;s x;s dFkuksa esa ls dkSu lk@ls dFku lR; gS@gSa%
(a) dsoy 1 (b) 1 vkSj 2
(c) 2 vkSj 3 (d) 1, 2 vkSj 3
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57. Despite being a Republican State, India is a

member of the Commonwealth of Nations whose
head is the British Monarch. This is because:
(a) this membership does not affect the sovereign

nature of the Indian Republic
(b) this membership only shows that the British

ruled over India
(c) members of the association are sovereign and

independent
(d) it is a symbol of the unity among the members

of the association
58. Which one of the following was not a principle

in the 'Panchsheel' as enunciated in the Sino-
Indian agreement in 1954?
(a) Peaceful co-existence
(b) Mutual respect for territorial integrity
(c) Mutual non-interference in each other's

internal affairs
(d) Mutual help in times of need

59. Consider the following and identify the part of
the Constitution of India referred to in it:
The state shall endeavour to promote
international peace and security, maintain just
and honourable relations between nations...
(a) Fundamental Rights
(b) Relations between the Union and the States
(c) Elections
(d) Directive Principles of State Policy

60. Consider the following Presidents of India:
1. Giani Zail Singh
2. Fakhruddin Ali Ahmed
3. Varahagiri Venkata Giri
4. Ramaswamy Venkataraman
Which of the following is the correct chronology
of their tenures?
(a) 1-2-3-4 (b) 2-3-4-1
(c) 3-2-1-4 (d) 4-2-3-1

61. Who among the following were the five founder
leaders of Non-Alignment Movement?
1. Mountbatten 2. Jawaharlal Nehru
3. John F. Kennedy 4. Sukarno
5. Kwame Nkrumah 6. Churchill
7. Josip Broz Tito 8. Gamel Abdel Nasser

57. ,d x.kra=h; jkT; gksus ds ckotwn] Hkkjr jk"Vªe.My
dk lnL; gS ftldk çeq[k fczfV'k vf/kifr gSA ,slk
blfy, gS fd%
(a) ;g lnL;rk Hkkjrh; x.kra= ds lEçHkq Lo:i

dks çHkkfor ugha djrhA
(b) ;g lnL;rk flQZ ;g fn[kykrh gS fd fczfV'k

yksxksa us Hkkjr ij 'kklu fd;k FkkA
(c) laxBu ds lnL; lkoZHkkSe vkSj Lora= gSA
(d) ;g laxBu ds lnL;ksa ds chp ,drk dk çrhd

gSA
58. buesa ls dkSu] 1954 ds phuh&fgUn le>kSrs ds rgr

çfrikfnr iap'khy fl)kUr esa 'kkfey ugha Fkk\
(a) 'kkafriw.kZ lg vfLrRo
(b) ,d nwljs dh {ks=h; v[k.Mrk ds çfr ijLij

lEeku
(c) ,d nwljs ds vUn:uh ekeyksa es ijLij vgLr{ksi

dh uhfr
(d) vko';d le; esa ijLij lgk;rk dh uhfr

59. fuEufyf[kr oDrO; ij fopkj djsa rFkk Hkkjr ds
lafo/kku esa mYysf[kr lEc) Hkkx dks fpfUgr djsa%
jkT; varjk"Vªh; 'kkafr rFkk lqj{kk dks c<+kok nsus dk
ç;kl djsaxs ,oa jk"Vªksa ds e/; U;k;iw.kZ ,oa lEekutud
lEcU/kksa dks dkW;e j[ksax...
(a) ewy vf/kdkj
(b) dsUnz ,oa jkT;ksa ds e/; vkilh lEcU/k
(c) pquko
(d) jkT; ds uhfr funs'kd rRo

60. Hkkjr ds fuEufyf[kr jk"Vªifr;ksa ij fopkj dhft,%
1- Kkuh tsy falag
2- Q[k#n~nhu vyh vgen
3- ojkgfxjh osadV fxjh
4- jkekLokeh osadVjeu
fuEufyf[kr esa ls dkSu lk muds dk;Zdky dk lgh
dkykuqØe gS\
(a) 1-2-3-4 (b) 2-3-4-1
(c) 3-2-1-4 (d) 4-2-3-1

61. uhps fn;s x;s O;fDr;ksa esa ls dkSu ls ik¡p usrk
xqVfujis{k vkUnksyu ds laLFkkidksa esa 'kkfey gSa\
1. ekmUVcsVsu 2. tokgjyky usg:
3. tkWu ,Q- dsusMh 4. lqdkuksZ
5. Dokes uq#ekg 6. pfpZy
7. tksfli czkst VhVks 8. xsesy vCnqy uklsj
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Select the correct answer using the code given
below:
(a) 1, 2, 3, 4, 5 (b) 1, 3, 6, 7, 8
(c) 2, 4, 5, 6, 8 (d) 2, 4, 5, 7, 8

62. The map given below is related with which of
the following state/union territory?

                 

(a) Delhi (b) Goa
(c) Sikkim (d) Daman

63. Examine the map of India given below:

The rivers marked 1, 2, 3, 4, 5 are respectively:
(a) Kavery, Krishna, Godavari, Mahanadi,

Narmada
(b) Mahanadi, Krishna, Kavery, Narmada,

Godavari
(c) Narmada, Mahanadi, Godavari, Krishna,

Kavery
(d) Krishna, Godavari, Kavery, Mahanadi,

Narmada

uhps fn;s x;s dwVksa dk ç;ksx dj lgh mRrj dk
p;u djsa%
(a) 1, 2, 3, 4, 5 (b) 1, 3, 6, 7, 8
(c) 2, 4, 5, 6, 8 (d) 2, 4, 5, 7, 8

62. uhps fn;k x;k ekufp= fdl jkT;@dsUnz 'kkflr
çns'k ls lEcfU/kr gS\

             

(a) fnYyh (b) xksok
(c) flfDde (d) neu

63. fn;s x;s Hkkjr ds ekufp= dk v/;;u djsa%

1, 2, 3, 4, 5 ls fpfUgr ufn;k¡ Øe'k% gSa%

(a) dkosjh] Ñ".kk] xksnkojh] egkunh] ueZnk

(b) egkunh] Ñ".kk] dkosjh] ueZnk] xksnkojh

(c) ueZnk] egkunh] xksnkojh] Ñ".kk] dkosjh

(d) Ñ".kk] xksnkojh] dkosjh] egkunh] ueZnk
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64. Which one among the following best explains

‘Money’?
(a) It is a medium for producing capital goods.
(b) It is a means for redistributing wealth among

people.
(c) It is a common denominator for measuring value.

(d) It is a measure for resource allocation.

65. During which decade did the population record
a negative growth rate in India?
(a) 1921-1931
(b) 1911-1921
(c) 1941-1951
(d) 1931-1941

66. Match List-I with List-II and select the correct
answer using the code given below the lists:
        List-I    List-II

      (Olympic Players) (Year of Medal)
A.Vijay Kumar 1. 2008
B. Karnam Malleswari 2. 2012
C. Abhinav Bindra 3. 1996
D. Leander Paes 4. 2000

Codes:
A B C D

(a) 2 4 3 1
(b) 1 2 3 4
(c) 2 4 1 3
(d) 3 2 1 4

67. In which of the following sports group, the
number of players of both the sides are equal?
(a) Polo and Water Polo
(b) BasketBall and Volleyball
(c) Base Ball and Kho-kho
(d) Football and Rugby

68. LAN, WAN and MAN are computer networks
covering different areas. Their first alphabets
L, W, M respectively stand for:
(a) Local, World and Middle
(b) Long, Wireless and Metropolitan
(c) Local, Wide and Metropolitan
(d) Least, Wireless and Maximum

64. buesa ls dkSu ^eqnzk* dh lcls lgh ifjHkk"kk gS\
(a) ;g iwthaxr oLrqvksa ds mRiknu dk ,d ek/;e

gSA
(b) ;g yksxksa esa /ku ds iquZforj.k dk ,d ek/;e gSA
(c) ;g ewY;ksa dk vkdyu djus dk ,d vke foHkktd

gSA
(d) ;g lalk/ku vkoaVu dk ,d mik; gSA

65. fdl n'kd esa Hkkjr esa tula[;k dk udkjkRed
fodkl nj ntZ fd;k x;k\
(a) 1921-1931
(b) 1911-1921
(c) 1941-1951
(d) 1931-1941

66. lwph-I dks lwph-II ls lqesfyr djsa rFkk uhps fn;s
x;s dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA
          lwph-I    lwph-II
(vksyfEid f[kykM+h) (esMy çkfIr o"kZ)
A. fot; dqekj 1. 2008
B. d.kZe eYys'ojh 2. 2012
C. vfHkuo fcUnzk 3. 1996
D. fy,aMj isl 4. 2000

dwV%
A B C D

(a) 2 4 3 1
(b) 1 2 3 4
(c) 2 4 1 3
(d) 3 2 1 4

67. buesa ls fdl [ksy lewg esa nksuksa i{k ds f[kykM+h
cjkcj la[;k esa gksrs gSa\
(a) iksyks rFkk okVj iksyks
(b) ckLdsV cky rFkk okWyhcky
(c) csl cky rFkk [kks&[kks
(d) QqVckWy rFkk jXch

68. LAN, WAN vkSj MAN fofHkUu {ks=ksa dks vkPNkfnr
djus okys dEI;wVj usVodZ gSaA buds izFke v{kj
L, W vkSj M Øe'k% fduds fy, gSa\
(a) yksdy] oYMZ vkSj feMsy
(b) yk¡x] ok;jysl vkSj esVªksikWfyVu
(c) yksdy] okbM vkSj esVªksikWfyVu
(d) yhLV] ok;jysl vkSj eSfDlee
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69. Which of the following is listed from the largest
to the smallest?
(a) TB, MB, GB, KB
(b) GB, TB, MB, KB
(c) TB, GB, KB, MB
(d) TB, GB, MB, KB

70. Match List-I with List-II and select the correct
answer using the code given below the lists:
          List-I    List-II
(Indian Air Force) (Indian Navy)
A. Group Captain 1. Lt. Commander
B. Air Marshal 2. Vice Admiral
C. Squadron Leader 3. Commander
D. Wing Commander 4. Captain

Codes:
A B C D

(a) 2 4 1 3
(b) 1 4 2 3
(c) 3 2 1 4
(d) 4 2 1 3

71. Which one among the following is not a
Command of the Indian Army?
(a) South-Western Command
(b) South-Eastern Command
(c) Army Training Command
(d) Central Command

72. The Central Industrial Security Force is under
the administrative control of which of the
following ministries?
(a) Defence Ministry
(b) Headquarters of the Integrated Joint Staff
(c) Ministry of Home Affairs
(d) Prime Minister Office

73. Generally we hear the term TRP in the news. What
is the full form of TRP?
(a) Telly Rating Points
(b) True Rating Points
(c) Total Rating Points
(d) Television Rating Points

69.  buesa ls dkSu lk Øe lcls cM+s ls NksVs dh vksj
lwphc) gS\
(a) TB, MB, GB, KB
(b) GB, TB, MB, KB
(c) TB, GB, KB, MB
(d) TB, GB, MB, KB

70. lwph-I dks lwph-II ls lqesfyr djsa rFkk uhps fn;s
x;s dwVksa dk iz;ksx dj lgh mRrj dk p;u djsaA
     lwph I   lwph II
(Hkkjrh; ok;q lsuk) (Hkkjrh; ukS lsuk)
A. xzqi dSIVu 1.  ys- dek.Mj
B. ,;j ek'kZy 2. okbl ,Mfejy
C. LdokMªu yhMj 3.  dek.Mj
D. foax dek.Mj 4.  dSIVu

dwV%
A B C D

(a) 2 4 1 3
(b) 1 4 2 3
(c) 3 2 1 4
(d) 4 2 1 3

71. fuEufyf[kr esa ls dkSu lh ,d] Hkkjrh; lsuk dh
deku ugha gS\
(a) nf{k.kh&if'peh deku

(b) nf{k.kh&iwohZ deku

(c) lsuk çf'k{k.k deku

(d) e/; deku

72. dsUnzh; vkS|ksfxd lqj{kk cy fuEufyf[kr ea=ky;ksa esa
ls fdlds iz'kklfud fu;a=.k esa gS\

(a) j{kk ea=ky;

(b) ,dh—r la;qDr LVkQ dk eq[;ky;

(c) x̀g ea=ky;

(d) iz/kku ea=h dk;kZy;

73. Vh-vkj-ih- ds fo"k; esa ge vDlj [kcjksa esa lqurs gSaA
Vh-vkj-ih- dk iwjk vFkZ gS\
(a) Vsyh jsfVax IokabV
(b) Vªw jsfVax IokbaV
(c) VksVy jsfVax IokbaV
(d) Vsfyfotu jsfVax iokbaV
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74. Consider the following pairs:
Region often in news  – Country
1. Chechnya – Russian Federation
2. Darfur – Mali
3. Swat Valley – Iraq
4. Aleppo – Syria
Which of the above pair/s is/are correctly
matched?
(a) Only 1 and 2
(b) Only 2 and 3
(c) Only 1 and 4
(d) Only 1, 2 and 3

75. What is the correct chronological order of
conferring  Bharat Ratna to the following?
1. Bhimsen Joshi
2. Amartya Sen
3. Sachin Tendulkar
4. Lata Mangeshkar
5. Madan Mohan Malaviya
(a) 2-4-1-3-5 (b) 5-2-1-4-3
(c) 1-2-5-4-3 (d) 2-3-4-1-5

74. fuEufyf[kr ;qXeksa ij fopkj dhft,%
lekpkj esa izk;% vkus – ns'k
   okys {ks=
1. pspU;k – jf'k;u QsMjs'ku
2. nkjQqj – ekyh
3. Lokr ?kkVh – bjkd
4. vysIiks – lhfj;k
mi;qZDr esa ls dkSu&lk@ls ;qXe lgh lqesfyr gS@gSa\
(a) dsoy 1 vkSj 2
(b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 4
(d) dsoy 1] 2 vkSj 3

75. fuEu dks Hkkjr jRu fn;s tkus dk lgh Øe D;k gS\
1. Hkhelsu tks'kh
2. veR;Z lsu
3. lfpu rsUnqydj
4. yrk eaxs'kdj
5. enu eksgu ekyoh;
(a) 2-4-1-3-5 (b) 5-2-1-4-3
(c) 1-2-5-4-3 (d) 2-3-4-1-5
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ENGLISH
SPOTTING ERRORS

Directions: Each item in this section has a sentence which is divided into parts labelled (a), (b) and (c). Read
each sentence to find out whether there is any error in any part and indicate your answer in the Answer Sheet
against the corresponding letter i.e., (a), (b) or (c). If you find no error, your response should be indicated as
(d).

76.  Tagore was
(a)

one of the greatest poet
(b)

that ever lived.
(c)

No error
(d)

77. I tried to meet the person
(a)

whom you said
(b)

was looking for me.
(c)

No error
(d)

78. He was in the temper
(a)

and refused
(b)

to discuss the matter again.
(c)

No error
(d)

79.  
)a(

me worry  youWhy
)b(

 yoursof problem  thiswhen
)c(

brotherby your  solved be can
)d(

error No

COMPREHENSION

Directions: In this section, is one short passage. After the passage, you will find new questions each based on
what is stated or implied in the passage. First read the passage and then answer the questions following the
passage.

PASSAGE
I went into a restaurant, which was already crowded, and ordered my meal. While I was waiting for the

soup to arrive, I looked around to see if I knew anyone in the restaurant. It was then I noticed a man sitting at a
corner table near the door kept glancing in my direction, as he knew me. I certainly did not know him, for I never
forget a face. The man had a newspaper open in front of him, which he was pretending to read, though all the
while I could see that he was keeping an eye on me. When the waiter brought my soup, the man was clearly
puzzled by the familiar way in which the waiter and I addressed each other. He became even more puzzled as
time went on and it grew more and more obvious that I was well-known in the restaurant. Eventually he got up
and went into the kitchen. After a few minutes he came out again, paid his bill and left without another glance in
my direction.

80. The narrator observed somebody watching him.
(a) immediately after entering the restaurant
(b) sometime after he settled down in his seat
(c) while he was eating his meal
(d) when the waiter drew his attention to him

81. The narrator puzzled the man who was watching him because
(a) he was sitting idle without eating
(b) he came to an overcrowded restaurant
(c) he sat without talking to anyone
(d) he appeared to be well-known in the restaurant
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82. The man watching the narrator gives us an impression that
(a) he wanted to make friendship with the narrator
(b) he intended to observe without being noticed
(c) he wanted to wait until the narrator finished his meal
(d) he was an idler

83. The narrator went into an over-crowded restaurant because
(a) he loved crowds
(b) that restaurant was nearest to his office
(c) the food there is delicious
(d) he is in the habit of going there regularly

SYNONYMS
Directions : Each item in this section consists of a sentence with a CAPITAL word, followed by four words.
Select the word that is most similar in meaning to the capital word.

84. I shall DISCLOSE your identity if you do not speak the truth.
(a) express (b) blackmail (c) report (d) reveal

85. I would not have built a house here but for the engineer's ASSURANCE that this area never has floods.
(a) suggestion (b) belief (c) suspicion (d) guarantee

86. The car accident was the CONSEQUENCE of his carelessness.
(a) result (b) proof (c) end (d) conclusion

87. How could the thief gain ACCESS to the bank lockers?
(a) permission (b) exit (c) entry (d) nearness

ANTONYMS
Directions: Each item in this section consists of a sentence with a CAPITAL word, followed by four words.
Select the word that is most nearly opposite in meaning to the capital word.
88. That man is known for his ELEGANCE.

(a) awkwardness (b) indelicacy (c) clumsiness (d) savagery
89. The decision was DELAYED because of him.

(a) expedited (b) advanced (c) released (d) triggered
90. The room was filled with a DELICIOUS odour.

(a) bitter (b) repulsive (c) strange (d) unpalatable
91. Silence in this place is MANDATORY.

(a) optional (b) compulsory (c) imperative (d) irritating

FILL IN THE BLANKS
92. The judge ordered that the criminal be put________ death.

(a)  to (b) under (c) at (d) till
93. The doctor advised the patient to ________  an operation.

(a) understand (b) undergo (c) underline (d) underpass



MAJOR KALSHI CLASSES PVT. LTD. 21

CLASS - 11  MKC TALENT HUNT & SCHOLARSHIP EXAM

94. They waited ________ it was dark as they did not want to be seen.

(a) until (b) since (c) when (d) while

95. A good teacher should not be ________ with students.

(a) nervous (b) excited (c) impassioned (d) impatient

ORDERING OF WORDS IN A SENTENCE
Directions: Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely
(a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the sentence and select the correct
sequence.

96. If Socrates 
P

at  wasJoan St. innocent
Q

seventy of age the
R

how imagined bemay  it

S
atinnocent  was   the age of seventeen.

The correct sequence should be:
(a) QRSP (b) RPSQ (c) PRSQ (d) SQRP

97. The captain 
P

enemy eagainst th engaged when
Q

man bravea  himself  waswho
R

heart lose  tonever

S
soldiers  theadvised

The correct sequence should be:
(a) SQRP (b) QSRP (c) QPSR (d) PQSR

98. She was still 
P

down slumped who  
Q

see could she that  
R

Colonel  thefrom way some

S
positiona  such in  only his legs and feet.

The correct sequence should be:
(a) PSQR (b) SQRP (c) RPSQ (d) QSPR

99. On reaching the station 
P

around lookedfirst  he  
Q

none find could he  whenand  
R

luggage his liftedjust  he

S
cooliea  for  and walked down the platform.

The correct sequence should be:
(a) RPSQ (b) QRPS (c) SQRP (d) PSQR

100. The ultimate hope 
P

nations  theforce will  
Q

 weaponsof nature edestructiv  thethat
R

 warup give to

S
fulfilled beennot  has

.

The correct sequence should be:
(a) RSQP (b) PQRS (c) QPRS (d) PRQS
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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le; % nks ?kaVs                                                                        iw.kkZad % 400

vuqns”k
1- ijh{k.k izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysa fd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk ì’B vFkok

iz”ukad vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny yhft,A
2- —i;k /;ku j[ksa fd OMR mŸkj&i=d esa] mfpr LFkku ij] jksy uEcj /;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus

dh ftEesnkjh mEehnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr
dh fLFkfr esa mŸkj&i=d fujLr dj fn;k tk;sxkA

3- bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks’Bd esa vkidks viuk vuqØekad
fy[kuk gSA ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA

4- bl ijh{k.k iqfLrdk esa dqy 100 iz”ukad ¼iz”u½ fn, x, gSa] Hkkx I & xf.kr] foKku vkSj Hkkx II - lkekU; lpsrrk] v¡xzsthA izR;sd
iz”ukad esa pkj  izR;qŸkj ¼mŸkj½ fn, x, gSaA buesa ls ,d izR;qŸkj dks pqu ysa] ftls vki mŸkj&i=d ij vafdr djuk pkgrs gSaA ;fn vkidks
,slk yxs fd ,d ls vf/kd izR;qŸkj lgh gS] rks ml izR;qŸkj dks vafdr djsa tks vkidks loksZŸke yxsA izR;sd iz”ukad ds fy, dsoy ,d gh
izR;qŸkj pquuk gSA

5- vkidks vius lHkh izR;qRrj vyx ls fn, x, mRrj&i=d ij gh vafdr djus gSaA mRrj&i=d esa fn, x, funsZ”k nsf[k,A
6- lHkh iz”uka”kksa ds vad pkj ¼4½ gSaA
7- blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz”uka”kksa ds izR;qRrj mRrj&i=d ij vafdr djuk “kq: djsa] vkidks izos”k izek.k&i= ds lkFk

izsf’kr vuqns”kksa ds vuqlkj dqN fooj.k mRrj&i=d esa nsus gSaA
8- vki vius lHkh izR;qRrjksa dks mRrj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mRrj&i=d v/kh{kd dks lkSai nsaA vkidks vius

lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA
9- dPps dke ds fy, i=d ijh{k.k iqfLrdk ds vUr esa layXu gSaA
10- xyr mRrjksa ds fy, n.M%

oLrqfu’B iz”u&i=ksa esa mEehnokj }kjk fn, x, xyr mŸkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz”u ds fy, pkj oSdfYir mRrj gSaA mEehnokj }kjk izR;sd iz”u ds fy, fn, x, ,d xyr mRrj ds fy, iz”u gsrq fu;r fd,
x, vadksa dk ,d ¼1½ vad n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEehnokj ,d ls vf/kd mRrj nsrk gS] rks bls xyr mŸkj ekuk tk,xk] ;|fi fn, x, mŸkjksa esa ls ,d mŸkj lgh gksrk
gS] fQj Hkh ml iz”u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ iz”u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mŸkj ugha fn;k tkrk gS] rks ml&iz”u ds fy, dksbZ n.M
ugha fn;k tk,xkA

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

/;ku nsa % vuqns”kksa dk fgUnh :ikUrj bl iqfLrdk ds fiNys i’̀B ij Nik gSA
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